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: Leung,

CP"™ : RP"

G2(R"12) @ §Fn=Fk (0 <k < [n/2))
(= S* x S"F/7,)

GE(CT) + GRR™T),
G?(Herq) (n = 2m,r = 2q),
U(n) (n=r)




(Chen- )
M : Riemann
S C M :
S Vr,yeS S Yy=y
H#oM : M [ 2-number
= sup{#5S | S }
S : & Ho M = #S
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#QRPZ = 3
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#ZG]E(K’I?,—I—T) _ (TL + ’T‘)
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M R
= #M = dim H,(M, 7Z,)
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M :
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1.3

M :

Hermite
Ll, Lz : M

ol < #2L-

(1) (M, Ly, Ly) Z

(G5,,(C'™), G, (H*™),U(2m))
(m > 2)

— LN Ly : Ly
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(2) (M, Ly, Ly) =

(G2, (C*™), G, (H*™), U (2m))
(m > 2)

=

#(Ll M Lz) — 2m
m
< 22m — #ZU(Zm)
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M : Hermite
L : M1 Lagrange
L :
< L,g- L

(9 : )
#(LNg-+L)=dimH,(L,Zs>)
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Hermite

Howard :
RP™ C CP™
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S02, Sl — Gy(RY) = 82 x S2,

SO,n’ gl,n—1 C éz(Rn—l—Z)
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M Kahler
> 0
Li,Ly : M
Lagrange

= LiNLy#0

Frankel
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F(so, M) = J: Mj

19




F(sy, S™) = {0,0}, 0 :

K =R,C,H
F(s,, KP") = {0} UKP"!

F(so, G, (K"™))

= G (K") x G}, (K™)
7=0
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Hermite

— MT -

L : M
LNMT #(
= LNMT: MT
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M,Ly, L : 1.2, 1.3
F(soy M) =J;_o M
o&c LiN L
LiN Ly, C F(sy, M)

LiN Ly, =

Ji—o{(InN M )N (LN M)}
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